
O = [0, 0]

P1 = [x1, y1]

P2 = [x2, y2]

V3 = (x2-x1, y2-y1)

P3 = [x2-x1, y2-y1]
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With: phi > 0, theta < 0
phi - theta = 2*PI
<=> phi = theta + 2*PI
<=> theta = phi - 2*PI
-> sin(theta) = sin(phi)
and cos(theta) = cos(phi)
cause sin/cos 2*PI periodical
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Vex = (1, 0)

getDirection

function getVector(p1, p2)
{
    return [p2[0] - p1[0], p2[1] - p1[1]]
};

function getVector(p1, p2)
{
    return getAngle([1, 0], getVector(p1, p2))
};

Not sure...
V1*V2 = |V1|*|V2|*cos(phi)
<=> V1*V2/(|V1|*|V2|) = cos(phi)
<=> x1*y1 + x2*y2/((x1)^2 + (y1)^2 + (x2)^2 + (y2)^2)^(1/2)= cos(phi)
<=> phi = acos(x1*y1 + x2*y2/((x1)^2 + (y1)^2 + (x2)^2 + (y2)^2)^(1/2))
but that is ugly and is'nt supported by libs...
With |V1xV2| / (|V1| * |V2|) = |sin(phi)|
and tan(phi) = sin(phi) / cos(phi)
may be sufficient to do:
tan(phi) = |V1xV2| / (|V1|*|V2|) * |V1|*|V2|/(V1*V2)
tan(phi) = |V1xV2| / (V1*V2)
<=> tan(phi) = x1*y2 - x2*y1 / (x1*x2 + y1*y2)
<=> phi = atan(x1*y2 - x2*y1 / (x1*x2 + y1*y2))

x

PI / 2

3*PI/2

PI
Unit placed
with angle = 0

Unit placement

As it should be:

x

y (z in 3D)

PI / 2

3*PI/2

PI

As it is now:

y (z in 3D)

Unit placed
with angle = 0

V1 = (x1, y1)
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BUILDING_ANGlE = 3*PI/4 (= 0.75 * PI)
BUILDING_ANGlE = -PI/4 (= 7*PI/4)


